Endometriosis

Control

Odds Ratio

Odds Ratio

Study or Subgroup Events Total Events Total Weight IV, Random, 95% CI IV, Random, 95% CI
1.3.1 Singleton

Aris, A 2014 22 784 1037 30284 14.6% 0.81[0.53, 1.25] T
Benaglia, L 2016 17 239 23 239 10.3% 0.72[0.37, 1.38] 1
Carassou-Maillan, A 2014 1 227 26 977 2.0% 0.16 [0.02, 1.20]

Conti, N 2015 40 316 146 1923 15.8% 1.76 [1.22, 2.56] -
Harada, T 2016 12 330 207 8856 11.4% 1.58 [0.87, 2.85] T
Kuivasaari-Pirinen P 2012 7 49 2 43 2.8% 3.42[0.67, 17.43]

Mekaru K 2013 0 40 1 48 0.8% 0.39[0.02, 9.86]

Subtotal (95% CI) 1985 42370 57.7% 1.10 [0.69, 1.77] S
Total events 99 1442

Heterogeneity: Tau? = 0.20; Chi? = 16.33, df =6 (P = 0.01); I =63%

Test for overall effect: Z = 0.40 (P = 0.69)

1.3.2 Combined reports of singleton and multiple

Baggio S 2015 1 30 10 93 1.8% 0.29 [0.04, 2.33]

Jacques, M 2016 13 113 10 113 7.4% 1.34[0.56, 3.19] N B
Mannini L 2016 56 262 88 524 15.8% 1.35[0.93, 1.96] Bl
Stern, JE 2015 64 996 143 1901 17.2% 0.84 [0.62, 1.15] T
Subtotal (95% CI) 1401 2631 42.3% 1.04[0.72, 1.52] <P
Total events 134 251

Heterogeneity: Tau? = 0.06; Chi? = 5.38, df =3 (P = 0.15); I? = 44%

Test for overall effect: Z = 0.23 (P = 0.82)

Total (95% ClI) 3386 45001 100.0% 1.09 [0.81, 1.46] ’
Total events 233 1693

Heterogeneity: Tau? = 0.11; Chi? = 22.68, df = 10 (P = 0.01); I? = 56% 0.=02 0?1 H 1=o 5=0

Test for overall effect: Z = 0.57 (P = 0.57)

Test for subaroup differences: Chi2 = 0.03, df =1 (P = 0.86), I? = 0%

Favours [control]

Favours [endometriosis]
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